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Aufgabe 3.2:

• Binomial-Verteilung : knk pp
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• Poisson-Verteilung : λλ
ξ −== e

k
kP

k

!
)( k=0,1,...

Es soll gelten )1()( 00 −=≥= kPkP ξξ

λλ λλ −
−

−

−
≥⇒ e

k
e

k

kk

)!1(! 0

1

0

00

1
0

≥
k
λ

  ,d.h.  λ≤0k

Es soll gelten )1()( 00 +=≥= kPkP ξξ

λλ λλ −
+

−

+
≥⇒ e

k
e

k

kk

)!1(! 0

1

0

00

1
1

0 +
≥

k
λ

    ,d.h.  λ≥+ 10k

Und somit ist schließlich  λλ ≤≤− 01 k

• Hypergeometrische Verteilung : 
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Aufgabe 3.3:
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Aufgabe 3.4:
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